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QUESTION 1

You are creating a domain by using the configuration Wizard. In the wizard, you select to configure Node Manager.
Under "Node Manager Type, you select "Manual Node Manager setup". 

What does this mean? 

A. You are using the configuration Wizard to configure a script –based Node Manager. 

B. The configuration Wizard prompts you to change the default Node Manager configuration values. 

C. The configuration Wizard bypasses all Node Manager configuration. 

D. You are using the configuration Wizard to configure a Java –based Node Manager. 

E. You must manually copy the Node Manager files generated by the configuration Wizard into Node Manager home. 

Correct Answer: E 

 

 

QUESTION 2

In the certification matrix for your version of WebLogic Server , you find the row for your database and its version. In that
row, in the "type of database use" column, it says "application data access only". 

Your database cannot be used __________. 

A. By the administration server 

B. For internal data storage by WebLogic server 

C. By a multidata source 

D. In a production environment 

E. By an Enterprise JavaBean 

Correct Answer: B 

 

QUESTION 3

You have an existing domain and need to add a new managed server to it. 

Which three statements are true concerning the creation of managed servers? (Choose three.) 

A. A server must be assigned a machine 

B. A server must be assigned a listen port 

C. A server\\'s name cannot be changed after it is created 
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D. A server can be associated with a server template 

E. Servers can have duplicate names as long as they have unique ports 

F. A server must be assigned a listen address 

Correct Answer: ABF 

 

QUESTION 4

Which three statements are true about the Change Center in the Administration Console? (Choose three.) 

A. The Change Center has a link to view any servers that need to be restarted 

B. In a Development Mode domain, the configuration lock can be acquired automatically 

C. The Change Center has a link to view the changes made so far 

D. Locking the console prevents other privileged users from taking the lock until you release it or activate your changes 

E. After activating the changes to a server\\'s configuration, you must always restart that server 

F. The Change Center is available only in a Production Mode domain 

Correct Answer: ABC 

 

QUESTION 5

You are using the administration console to monitor transactions on a managed server. In the Summary subtab, under
the JTA tab, you notice that the total count of transactions does not equal the sum of the committed transactions and all
of the various rolled back transaction categories. How do you explain this? 

A. The total count field includes committed, rolled back, and heuristic completions 

B. The total count field includes in-progress transactions, but the others only show completed transactions 

C. The total count includes distributed and local transactions. The committed count and the various rolled back counts
are for distributed transactions only 

D. The total count includes all transactions since the server was started. The other counts only include the transactions
included in the latest transaction log 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E50629_01/wls/WLACH/pagehelp/
Corecoreserverservermonitoringjtasummarytitle.html 
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